


20 9
0.1
17 18 19 20 18 19 20
45,927 | 47,468 | 51,673 | 54,402 3.4 8.9 5.3
66,363 | 68,955 | 70,739 | 72,008 3.9 2.6 1.8
1 6,921 | 6,884 | 7,305| 7,555| A0.5 6.1 3.4
25,658 | 33,305 | 41,803 | 49,630 | 29.8| 25.5| 18.7
55.9 70.2 80.9 91.2
36,777 | 48,106 | 57,089 | 65,638 30.8| 18.7| 15.0
55.4 69.8 80.7 91.2
1 6,977 | 6,923 | 7,322| 7,561 | AO0.8 5.8 3.3
1.008 | 1.006 | 1.002| 1.001
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3.1 3.3 1
17 18 19 20 18 19 20
6,977 | 6,923 | 7,322 | 7,561| AO0.8 5.8 3.3
1,897 | 1,901| 1,924| 1,984 0.2 1.2 3.1
217.2 21.5 26.3 26.2
5,069 | 5,011 5,387 | 5,565| A1l.2 7.5 3.3
72.7 2.4 73.6 73.6
4,301 | 4,245 | 4,573 | 4,713 Al3 7.7 3.0
10 11 12 12 7.5 8.2 3.7
0.1 0.2 0.2 0.2
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1 4,706
1 285 18.8 88
3.0 1
1 1
08 53 430 1

17 18 19 20 18 19 20
4,296 4,243 4,571 4,706 Al?2 7.7 3.0
1 2.77 2.80 2.83 2.85 1.0 1.1 0.8
16.7 17.3 17.9 18.8 3.2 3.5 5.3
1 93 88 90 88 A53 2.9 A3.0
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95 0.0 0.0 0.1 1 0.1
90 95 0.0 0.0 021 0.3
85 90 0.0 0.0 06! 0.8
80 85 0.0 0.0 1.2 2.0
75 80 0.0 0.0 18 : 38
70 75 0.0 0.1 24 6.2
65 70 0.1 0.2 34 9.7
60 65 0.2 0.4 43 14.0
55 60 0.3 0.7 55 | 19.6
50 55 05 1.2 741 27.0
45 50 1.0 2.2 99! 36.9
40 45 15 37 133" 50.3
35 40 2.4 6.0 16.5 : 66.7
30 35 4.0 10.1 15.3 , 82.0
25 30 7.3 17.4 8.1, 90.1
20 25 13.3 30.6 5.1 95.2
15 20 255 56.1 261 97.8
10 15 30.7 86.8 1.3 | 99.1
5 10 115 98.3 06! 99.7
0 5 1.7 100.0 0.3 100.0
18.2 426
16.0 40.1
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I I I
n=528 66.9% |7.6%
c \ \ \
300 n=09 [8.1x] 83.8% |8.1%
| | |
300 500 n=130 66.9% |6.2%
| | |
500 700 n=160 60.6% |7.5%
| | |
700 900 n=g2 61.0% | 12.2%
| | |
900 n=57 63.2% | 3.5%
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[ = o |
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2,961
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